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HBE—NEHEE , BZEETHEHES .,
51

N [5,2,3,1]
it [1,2,3,5]

5l 2:

A [51,1,2,0,0]
fmiH: [0,0,1,1,2,5]

R

1 <= Alength <= 10000
-50000 <= A[i] <= 50000

ARFHEFRRIE, HESHREA nlogn

class Solution {
public int[] sortArray(int[] nums) {
mergeSort(nums, 0, nums.length - 1);

return nums;

public void mergeSort(int[] array, int startindex, int endindex) {
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if (startindex >= endlIndex) {
return;

}

// SREREFIAIRITTRERS |

int middlelndex = (startindex + endIndex) / 2;

/] EFIHE

mergeSort(array, startindex, middlelndex);

/] BHIHF
mergeSort(array, middleIindex + 1, endIndex);

/] BHEGHIFS

merge(array, startindex, endindex);

public void merge(int[] array, int startindex, int endindex) {

/| BRHEBRREIHNTFITER, EEAFHEFRESEREN O (n)

int[] tmp = new int[endIndex - startindex + 1];
int middlelndex = (startIndex + endIndex) / 2;
int i = startindex;

int j = middlelndex + 1;

intk =0;

while (i <= middlelndex && j <= endIndex) {

// NSRRI LAE HIAFFHEFR AIEEHERS, ASFTELAKRAINAE
if (array[i] <= array([j]) {

tmp[k++] = array[i++];
} else {

tmplk++] = array[j++];
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int start = i;

int end = middlelndex;

if (i > middlelndex) {
start = j;
end = endIndex;

}

while (start <= end) {
tmp[k++] = array[start++];

}

/] BEREEPRITRENREE

for (int m = 0; m < tmp.length; m++, startindex++) {

array[startindex] = tmp[m];

}
AFHEFER
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